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2 How many passwords of length 10, made of lowercase characters, don't start with "qwerty"?
(hint: complement)
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3> How many ways are there to order 3 people in a wedding photo for romeo and juliet?
Assume:

- there are 10 Montague's (Romeo's family, excluding him) who could be in the photo

- there are 7 Capulets (Juliet's family, excluding her) who could be in the photo

- Romeo and Juliet are too busy dancing to be in any picture

- Montagues and Capulets won't get in the same photo (that whole Tybalt / Mercutio thing...)
(hint: partition, simplify a bit)
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